NN \/gznmog o, n o] @S Fstolet




NI of #EE FotE o, thg FollA olE 5 22, 24

D V3 @)2- 3 ® -2
@ 2+ 3 ® -2+ V3
1 2-13

B+2 2+ VE-8) i




3.

x(ax+1) =3 = =2x* —bx +c 7F OIZPEAAL W, o Fho] E = gl
A& Fotdeh (9, a, b, ¢ = &5l

x(ax+1) =3 = =2x% — bx + ¢ A
(a+2)x>+(1+b)x-3-c=0
a+2#00]oJoFStRR g £ -2







ohe H7]9] oabghao] JejZE 2 EAS] o] F2 A2 Ud

stofzt.

5

& v =3 ©y=-2
@y:§x2 @

it

02
m m

0x
o

v v v VvVvvyvy vy
0
iy

0
L
® © O O

71&719] dHigko] 245

5
= o|la
<2<3 ]__

W | ot

1
- <
5

fu
@
© H
©
@
i
|o
fu
fr
£
I
S,




min




DO x*-6x+9 @ 4x* + 16x + 16
1 1
@x2+§x+2—51 @ x*+2xy+y?
2 - 2
® x + 30+ 5oy

D x2-6x+9=(x-3)2
@ 4x* + 16x + 16 = (2x + 4)?
@ x2 +2xy + 1y? = (x + y)?

® 2+ +i2—<x+1)2
3 gg) = &




B¢~ 10x+m 9 & Q%7 3r-4 % 0], HE @ Q1L

© x-1 2)x-2 ® 2x-1
@ 3x-2 ® 2x-3

B

3x2—10x+m = (3x—4)(x +k)
=3x2 + (Bk—4)x — 4k
3k—4=-10 A k= -2
—4k=mO|EE m=28
3x2—10x +8 = (3x—4)(x - 2)
wrebA] oHE Ql4= x— 2 ot




FEEEFAA-B=0% AL 7PF U 3T A2
D A=01812B=0 @ A+018I1 B=0
® A=01812B#0 QDA:OE%B:O

® A£018I2 B#0

A-B =07} 38l 4, BF Aol % ol sk 0 o] Hofo
st

ol EF AL @olrt.




10.

F O 2+ 2x-15=0T 1 -9=09] ¥

D1 @ -3

s

@ 5

of

X2 4+2x-15=0
(x+5)(x=3)=0

x=-5F=x=3
x2-9=0
=9
x=3EF+= -3

. 31
o TR S =




oA A (x-3)2-2=09F 2L, AL T W, o+p 9

#2?
@6 @ 242 ® 6+2vV2
@ -2v2 ® -6




12.

Iy = ax? ] Jej T o)A@ y = —(x+b)2+c 9] THZE
fgo2 5k y Zo] Wako 2 —4 uhE Wejo| 5 e ol
b

, e & a+b+c o g Fotefat

o = 9

_]-l)]l (
2o
2 ok 1

s
T a,

g

A
1o
ol
%
|o
f
&
rEI
o

ax’ = —(x+b+5)? +c-4°|BE2a=-1,b+5=0,c-4=0
o|tt.
et a=-1,b=-5¢=40°|1, a+b+c=-1-5+4=-2
ojtt,




®a<0,p>0¢g>0 @ a>0,p<0,g<0

®a>0,p<0,¢g>0 @a>0,p>0,q<0

®a>0,p>0¢g>0




d i, x* ~y* 9 k& F-stolet.

s 4(VB+1)
V3-1 (v3-1)(V3+1)
4(€+1)=2(V§+1):2ﬁ+2
B 4 B 4(\/3—1)
TVEr1 (V1) (VB-1)
:4(€_1)=2(V§—1)=2V§—2
x+y=2V3+2+2V3-2=43
x-y=2V3+2-(2V3-2) =4
(x+y) (x-y)=x*-y* o|E=

¥ —y?=4V3x4=16V3




+ \m
5

a7t -

5]

stefzt. (

S

q_

[e]

5x2 —2x—a =0 9 F 9] Fo| -2 o1
=

50

g 4)

o]z}
o, m—k 9 Zk
Soa=10

o]
=

=-2,m=>51

25

1-m

_k2—m
T 95

)<(557)

k+ Vm

(

15.

m—k=51-1=50




16. thg I 22 ol Dzl A HTRgS Totolel.

Y y=—zx’+az+b

T

>
> ®™ek: 9

~&B

y=—2+ax+b7F (2, 0), (8 0) & AEE 0|7}

Pt Sk

y=-(x-2)(x-8)
=—x*+10x - 16
=—(x*-10x+25) +25-16
=—(x-5)2+9

sx=5% o g2 9 ot




17.

oAy = x> +bx—a+16° x=4 4 W, F&F 2 5 2=

a 9 & T2

o1 @ ® 0 @-2 O -1




18. 5rty=15 A u, VI Ty 7t AG57} S BEL g A ApAs:

x+=7

@1 @2 ® 4 @ 7 ® 9

B \

5x+y=15 = y=15-5x

V2x Fy= V2x+15-5x = V15 - 3x

x 7F 7P 22 A4t = 25 9] = 15 vwke] 7B
A F57t Holof SRR 97} Eojof g

V15 -3x = V9

15-3x=9

Lx=2




19. 3v-y =12 A, VExFy 7t AA47h E B
x & Fotofet,

> E:

> ™Heh: 2

B

7

3x-y=12 = y=3x-12
Vox+y= Vbx+3x—12 = V8x—12

1
V8x—-12=1 = 8x—-12=1, x:—3

8
(x = AA%7} ol
V8x—12=2 = 8x—-12=4, x=2
watA] x = 201},




20. A% n o] Hste] yi O A4 LG f(n) 22 b W, £(1) +
F2)+FB3) + F(4) + -+ f(10) ] gh= Fapeqet

> E

> =t 19

B

), £(2), f3) =1

f(4), £(5), £(6), £(7), £(8) =2

f(9), f(10) =3
Al+14+14+2+424+2+24+2+3+3=19




